FBIE  AAFTIHILCARTLD
BEILEERTE S

33 2 RZRDIGE

X—J)—K: 2RBDILE

FEHEHRR 2 RRDBELEREIZONT

IO

fET D




3 AAFSHILATLDBERECERTEN
3.3 2RZBDIGE

2RZQIENR)

0<) <1 DEE Im
H: s” + 20wns +w, =0 N w:\/@
C 1& (pole) : D(s) =0 DR e, —é'u.:f ;
N(s) - -
N Gls) = D(s) | 0 ©
= _Cwn T \/C2W% — w% I

— _Cwn T anm

o Wd

3.8 2RZDBDHIE



BERARR

P1 = _Cwn _|_jwd

p2 = —(QWn — Jwd
Wy = wnm
SPZAVIZ I
y(t) =L 52+ 2?:;,?%8 + w2
_ 1 i Kw,

] o5 10

15 20 25 30

Wy X 3.6 2REZDA 27NV A Z51

V1= C2 (s + Cwn)” H[(1 - c2>

/—1_@ . “‘ EBOR R

INERDES

V 1 — C2wn :|
2

W

-

(s 4+ a)” + w?

—e Sin(wt))
3



e o foiv
XT Jj FB% —1 sta —at
L 5 = e “* cos(wt)
) (s +a)” + w?
y(t) =L Ko 1]
57+ 2wps t w8 a cos(wt) + bsin(wt)
& BB — Va2 + b2 sin(wt + ¢)
— o, _5 . K(S+2Cwn) qb:tan_l %
s  §2 4 2(wps + w2




N
|
p—t
Ay
i
(ITull}
ﬂ
W
A

&
3

(>1MEST 2 EWR
ATVTNE

X 3.7 2RZ2DATYTILE

o(t) = K {1 - (B = (- e—w“ﬁﬂ}
8=V -1




(<1 TREF EEHTS
c=1 E&SHIEH
¢ >1 1BFHE

] RENLALY

1B | 2B B DN
T HERENT S

C<1 t Im
)*’n

Re

37 2RZBDATYITILE

3.8 2RZDBDLALE



faE w,t

wp =1, t=10 —
Wp =9, t=2 =---
_ s Im
Wy = O
Wy =
. Re
- >
0

DRBZDATYITNE 2RZDIBDHIE



[ 51 ]

C_ s Im
1 ______________
— —
_5 —1 Re
0




2 R%RQRENR)

G(s) Ko, (o, K EES
S) = W, -
$2 + 2Cwp s + w? ’

» CIHIRBNBR (FUEVY) DEFMZED D BERI ¢

- WnlLRIGHEEDHD; BAA R R (BH AR R Wn

- K542 GO)=K E®E DC71M4>



w2 =1
Kw? =2
2Cw, =1

= Wn = 1 ﬁ%i&é&[i |
= K=2 HA %2

_ g:% RS2

s2+s+1

10



[H13.2] BE—FR—F /R

Kw?
Gls) = $% + 2Cwn s + w2
_ (1/M)
Gls) =77 (D./M) s + (K,/M)

- BAARIKE wn, B K, IZEEH
« BEREC M D, [THHI

11



B3R AAFTIAILVATLD
BEILEERTEN

33 2 RZRDIGE

X—J)—K: 2RBDILE

IO

FEHR 2 RERODBEGEFEICOVNTERFT L.




